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Do not open this paper until instructed to do so.
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* Attempt all questions.




S

vine |Question 1 (13 Marks )

1) |1 .
) Find the value of _ 1 correct to three significant figures. e
7+5x3 | ;

2) |1 |Simphify [2]+ ][5 |

3) |2 C 16 L
) Snnphfy?x—————. §

x81—x | J

4) |1 Find the value of 79777 to two decimal places.

no

3) Expiess 0-23 as a fraction in its simplest form.
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6) |2 At Octopus Communications’ annual"sale, all mobile phones were discounted by 40%. Cedric
paid $630 for a mobile phone at the sale. What was the original price of the phone?

7 |2 A car engine is running at 7000 revolutions per minute.
a. How many revolutions are made in one hour?
b. If this engine uses /0 litres of fuel in one hour, how much fuel in ml does it use every

revolution? Leave answer to 2 decimal places.

- 2 :
%) The volume ¥ of a sphere is givenby V' = %mﬁ . If a sphere has volume 5.7 cm’, find the

radius correct to two decimal places.
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Question 2 ( 23 Marks )

1) Simplify 5+/3 +~/20 — 2412 + /45
2) Express = with a rational denominat
nominator.
4443
/
!f
fj
3) Write 5+/7 as a complete surd.
4
) Simplify x 122 2.
| x 3 x e
3) L aee 2Xx X+ 2
Simplify — —
Pty 7773
6) Factorise 2" —7x —15




Mathematics Year 11 Task 2 February 2007

7 |2 Factorise fully ab—a—bx +x.
8 |2 Factorise fully 64x®—16x*.
9 |2 Factorise fully 27p° + 125.
10) |2 Factorise fully: x* —y*> +3x+3y
|
|
|
i
11) , t? -9

Factorize and simy ify: )
v plty: =5
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12)

3

Expand and simplify (3a — _b)z —(a—=b)(a+b)

i

4
i
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Question 3 ( 34Marks )

T 1)  Change to index form: a)

i) Write without negative indices: [ )
x=y

2) |1 Find those values of x which satisfy the inequality /5 —4x <7.

~

2.
pre

! @ 2 Solve the equation 4’(x -5 =3-2(x—-1.

4)

3%

Solve 24 L =1
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S
) 2 Solve the equation S i
x+1 x
{
%) 3 Graph on the number line the solution set of: x—1_ 2x3—- = <lI.
|
|
IE Use the quadratic equation formula to solve the equation 44 +12A+1=0. Give answer to
two decimal places.
8 |2 Solve the quadratic equation 3 —dx—4=0.
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Solve for x: (2x + 3) =25.

Solve the simultaneous equations

11)

12)

Graph the solution of |x + 2| <3 on a number line.

Solve |8y.'i1[ =4y+7.
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13) |3 Solve simultaneously
y=2x+1 .
y=x'-3x+5.

i
\

Y

&

14) | 4

3x+6  2x’+6x

Simpli + ;
mlpfyxz_4 x2+x-6




